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3 dmay - daslidl Audxt!
e I (0 Lapdasg static 1 3,58 mes 93 J| 48LsYL toString() dashall o sdudadl (e dLalI
Ly (S
main() sl e oz Test cagall .1
Student il 2
ol o LaSL o ]

.Test cagall ¢ Léd)

o Wk

packagse lec2;

0

import java.util.Scanner;

puklic class Test {
puklic static void main(String[] args) {}

wom =1 Mmoo 5)H
M

>l cale @ Student cagall sLad) o3

backage lec2;

puklic class Student {}

s il s Cya5 cildaae Jsd> Cae JSI o wlai LS
sl Jeamdl 40t Student caat Lt
(NAME) Lazeid! pul

(80€) paseddl yos

package lecZ;
pulklic class Student {

private String name;

private int age;

(AU Y TR VY U I

i
Leas Jolazll set & get mlgal 7 liss JWL - private Jgumgll daes Jidlis duamms 00555 Of e alagalgll o elai LS
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puklic void setName (String n)

{
T this.name=n;
10 }

11 puklic String getName ()

W =1 &M

1z {
13 return this.names;

14 }

15 pukblic void sethAge(int a)
16| [ {

17 this.age=a;

18 L}

139 pukblic int gethge()
zo| & {

21 return this.age;
2z| L}

23 }

24

200 eall gAMad , w1 sl oL LS, o3

pukblic Student ()

i

this.name="ohmad";

this.age=20;

ellawgs oL LUK o8
i)
puklic Student (String name,int age)
{
this.name=name;

this.age=age;

J pa ) ady 145e this

test ciio 3 cdllall (e o2 sl o
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package lec2;

puklic class Test |
public static void maim(String[] args) {
Student sl = new Student();
System. cut.println(sl);

ramn:

leciZ.Student@lsdboT742
BUILD SUCCESSFUL (total time: 3 seconds)

eleazal (o) ©5 Eu (o8 (e Onnn9 ooy ll S ie mexis ©8) 929) hashCode JI @3 @ 8,La] sumg caiall pul (e 8l sa9
O ez dielbs wie (el alily (oad o Lyl 13] ¢ (2,301 adge duad (&lls Object iy § 48,all toString() S3alx!l a8l

aur v

;toString() Il wly JSCay Loz
puklic String toString()

{

return " name: "+this.name +" age: "+this.age| ;

:QQL4SE#¢;Q‘Jyﬁ;HJ+g

run:

name: Ahmad age: 20
BUILD SUCCESSFUL (total time: 2 =seconds)

Il Caal aaleedl @80 Jas 2alals 08 Qb LAl IS sl ¢« aduad pale @8, s JST0sS5 o iy
package lec2;
public class Student {
private String name;

private int age;

private int id ;

Jasdl e deydy ceedlill @i ¥ (§ setld &g sy ¥ getld s 28Lsks pgdicw
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42
43
44
45
46
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public String getName|)

{

return this.name;

}
public void setAge (int

{
this.age=a;

}

puklic int gethge()

{

return this.age;

}
puklic int getId()

{

return this.id;

iz

6)li_aJl

FLASMAR A LN Y

a)

rcount (Sl slae J) 7 s JWlby e Gl ¢ Lad) sie Lalals slajfiu diagdy s IS (ols (aelxll @8,

public class Student |
private String name;
private int age;

private int id ;

private static int count=0;

pukblic Student ()
{

this.name="o4hmad";
this.age=20;
count++;

id=count;

}

public Student (String name,int age)

{

this.namse=name;
this.age=age;
count+t;

id=count;

ZP«ZHQUJ‘CAQ#&UaéSL;vLCA¢$Ju=¢UﬁQp5

iedlatl ds el s liledl ae (el 08,01 adasd toString() &l Joaiw
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}
puklic Student (String name,int age)
{
this.name=name;
this.age=age;
count++;

id=count;

}
public String toString/()

{

return " name: "+this.name +" age: "+this.aget+" id: "+this.id
}
}
:main s
puklic class Test {
[=] puklic static wvoid maim(String[] args) {
Student =1 = new Student();
Student 32 = new Student("karam"”,33);
System. cut.println(sl);
System. cut.println(s2);
- }
}
g‘._gl,cfc)zﬂuji;

run:
name: Ahmad age: 20 id: 1
name: karam age: 33 id: 2
BUILD SUCCESSFUL (total time: 59 =seconds)

e Lt 2l Al LAl agdiu count ae Jalaxi o Lisyl 131

https://manara.edu.sy/



https://manara.edu.sy/

iz

6)li_aJl

FLASMAR A LN Y

15

16 - }

bt pukblic String toString()

18| [ {

3] return " name: "+this.name +" age: "+this.age+" id: "+this.id
500 L }

31 public static void print()

2| = {

g System. out.println{ " count: "+ count) ;
3 L }

35 }

- public class Test {

= public static woid maim(String[] args)
Student =1 = new Student();

Student =2 = new Student("karam",33);

System. cut.println(sl);
System. cut.println(s2);
Student. print();

—_ @ Output -lec? (run) X @ Student.java X |@ Testjava X
run:
name: Ahmad age: 20 id: 1

name: karam age: 33 id: 2

RET T

count: 2
BUILD SUCCESSFUL (total time: 1 second)

s dlasdHle

iy Suliadl c¥gmiall Lot ol Lolall Jlsall oSey Lo ASsliadl s e¥gmiall Jhas of Saliad! Jlgal] oSes¥
ERETN]
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& package lecZ;

T

&

] puklic class Number |

10

11 private int =;

1z private static int F;

13

14

15 pukblic static wvoid pxdnt()
16 {

7] T System.out.println

18 }

19 public woid print2()

20 {

21 T System. out.println{ " =: "+ x +"yv:"+ F) ;
22 }

23 }

24

il e Ladls a5l e x Jommall Loty cciuall Soin e sa JUilliy (Sutlieey Jomall oof olas LS
Akl dlall sdd 3lade a x JWly oaye J1 z sl Y Lelearadd Jlly 280t alls (# print() alludl clliS

Wby cauall 3y 39250 y Jasdl 9x Jandl oLadl pi payill il Julby paye J1 gl Leleanadd prine2() 210l Loy,
e A I

‘Jls
595 Sibiwd) Jgzmill e this alaseiul (Say Ja

Loyl sliousral gl count sluall 3,58 ae (Soliadl Jomill e 5T e 3,88 1,51 Jlsw
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